Minutes

November 22, 2022

Commissioners present: Michael Pepple and William Bateson. Timothy Bechtol absent.

Also Present: Alec Helms, Cindy Land, Charity Rauschenberg, Adam Witteman and David Devore.

Commissioner Pepple opened the meeting at 9:30 a.m. in the Commissioner's 1st floor conference room. The Pledge of Allegiance was recited. Minutes from the November 17, 2022 meeting was read with William Bateson making a motion to approve, Michael Pepple seconded. Motion passed 2-0.

The Assistant Clerk presented the following resolutions for consideration:

Resolution #798-22 – Authorizing payment of the listed and/or attached purchase orders. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #799-22 – Transfer of funds within the appropriation - Board of Elections. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #800-22 – Transfer of funds within the appropriation - HUD Fund #2062. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #801-22 – Additional appropriation - within the Auditor's certification - Commissioner's to appropriate to Common Pleas Court - Specialized Docket. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #802-22 – Transfer of funds within the appropriation - Veterans Services. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #803-22 – Transfer of funds from Indigent Defense to General Fund (October 2022 \$1,207.26). William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #804-22 – Additional appropriation - within the Auditor's certification - Commissioner's to appropriate to Dog & Kennel Fund. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #805-22 – Additional appropriation - within the Auditor's certification - Commissioners to appropriate to Contingencies. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #806-22 – Transfer of funds within the appropriation - Job & Family Services. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #807-22 – Transfer of funds Job & Family - General Office to Children Services. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #808-22 – Transfer of funds within the appropriation - Sheriff. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #809-22 – Additional appropriation - within the Auditor's certification - Commissioners to appropriate to Real Estate Fund. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #810-22 – Transfer of funds within the appropriation - Probate & Juvenile Court. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

Resolution #811-22 – Additional appropriation within the Auditor's certification – Commissioners to appropriate to AG Center. William Bateson made a motion to approve and Michael Pepple seconded. Motion passed 2-0.

William Bateson made a motion to approve the Warrant Journal and Michael Pepple seconded. Motion passed 2-0. The Commissioners approved an invoice from ACI Construction, Co. and a travel request for the Sheriff.

Cindy Land presented the following resolution:

Resolution #812-22 – Universal extension of the contract between the Board of Hancock County Commissioners and AT & T ILEC for Centrex Services. Cindy Land stated we must have a few Centrex landlines that come into the dispatch center for back up in case of emergency. This is to extend the contract with AT & T for another year for that service. William Bateson made a motion to approve, Michael Pepple seconded. Motion passed 2-0.

Cindy Land presented the following resolution for Phil Johnson:

Resolution #813-22 — Authorizing a second solicitation of bids for provision of snow removal services for properties owned by the Board of Hancock County Commissioners on County Road 140 in Hancock County, for the 2022-2023 Winter Season. Cindy Land stated it was her understanding that this was put out for bid and no bids were received. Since then Mike Thompson has received word from a few companies that they were unaware of the bid but would like the information if it is rebid. Mike will send the information to the interested parties once this resolution is passed. William Bateson made a motion to approve, Michael Pepple seconded. Motion passed 2-0.

Auditor Charity Rauschenberg stated that the fiscal office is getting ready for dog tag season. That will begin on December 1st. The online system has been working great. There was a discussion on the debt information that was provided during the CAC meeting about possible spring borrowing and the options available if borrowing to pay for a new jail is needed. Charity stated that the new values have been approved by the Department of Taxation. There was a discussion on the county's credit rating which is currently an Aa2.

Adam Witteman brought up the possibility of amending resolution #805-22. He stated this should come out of the Insurance line not Contingencies. Auditor Rauschenberg agreed. William Bateson made a motion to amend resolution #805-22 and Michael Pepple seconded. Motion passed 2-0.

Meetings/Reports

Timothy Bechtol was absent.

William Bateson attended the Parks and Recreation planning meeting yesterday. They presented the plans for Civitan Park in phase 2 of the benching project.

Michael Pepple had nothing to report.

At 10:00 a.m., the Commissioners met with Don Moses from the Landfill. Also present was Alec Helms and David Devore. Don Moses stated he felt there was some questions about the overtime being worked at the Landfill. There is no way to avoid the over time. Half of the guys will get 5 hours of overtime each week. This will be anyone working on Saturdays. He has tried to back the guys off or stagger but he is just not able to. They are still very busy and he has a great group of guys working for him out there. They have changed their hours back to 7:00 a.m. to 3:00 p.m. during the week and 7:00 a.m. to 11:30 a.m. on Saturdays. This means the guys work 7:00 a.m. to 3:30 p.m. during the week so anyone who works Saturday will automatically be in overtime. There was a discussion on the holiday hours for the Landfill. Don stated their compactor is having transmission issues. They will be having Ohio Cat fix it. This will take about 2 months and the estimated cost is \$79,174.40. The Horizontal Piping system installation should be done tomorrow. The contractor has been great to work with.

At 10:15 a.m. the Commissioners met with Sheriff Heldman. Also present was Alec Helms, Ryan Kidwell and David Devore. Sheriff Heldman stated the current door control and intercom system was last updated in 2008 and has reached the end of its mechanical life. There is currently being a grant program put together. They are making \$50 million available for county jail upgrades. We could apply for some of the money and the county would be responsible for 20% of the cost of the project. Ryan Kidwell explained the program and the intent on how to disburse the money. The preliminary cost estimate for replacing the who system would be \$310,600.00 which would mean the county contribution would be \$62,120.00. Commissioner Bateson stated this seems worth applying for the money to see if we are able to get it. Commissioner Pepple agreed. Ryan stated he will get all of the application stuff completed and brought to the Commissioners next week for signatures. He also went over the requirements for submitting the application.

Respectfully submitted,

Olee Nehr

Alec Helms, Assistant Clerk

Reviewed and approved by:

MuhaelWlgs & Michael W. Pepple

William L. Bateson

Timothy K. Bechtol





HANCOCK COUNTY SANITARY LANDFILL C/O COUNTY COMMISSIONERS 300 S MAIN ST

FINDLAY OH

CUSTOMER NO.	ESTIMATE NO.	DATE	CONTACT
2394110	1489024	11/18/2022	DON MOSES
PHONE NO.	FAX NO.		EMAIL
419 299 3638		hola	andfill@co.hancock.oh.us
MODEL	MAH	(E	SERIAL NO.
826K	AA		023206283
UNIT NO.	HOURS	WO NO.	P.O. NO.
	8956		

SEGMENT: 01

CLEAN MACHINE (070 7000)

NOTES:

Parts

Part Number Description Qty Unit Price Discount% Ext Price

Labor Summary

Parts: 0.00 Labor: 0.00 Misc: 2,000.00 Segment 01 Total: 2,000.00

SEGMENT: 02

REMOVE & INSTALL ENG, TC, TRANS & TFR GRS (010 1006)

NOTES:

Parts

Part NumberDescriptionQtyUnit PriceDiscount%Ext PricePARTSSEALS, HOSES, FLUIDS12,500.002,500.00

(ESTMATED)

Labor

Item NumberDescriptionQtyUnit PriceDiscount%Ext PriceSHP-1*-**-TMSHOP LABOR80151.25012,100.00

Labor Summary

Parts: 2,500.00 Labor: 12,100.00 Misc: 0.00 Segment 02 Total: 14,600.00

SEGMENT: 03

REPLACE DRIVETRAIN OIL LINES (510 3016)

Parts					
Part Number	Description	Qty	Unit Price	Discount%	Ext Price
4H6112	BREATHER	1	14.28		14.28
5P1292	HOSE	10	1.26		12.60
7M8485	SEAL	4	2.09		8.36
5P6412	HOSE	15	0.88		13.20
5417171	HOSE	18	1.75		31.50
3862217	HOSE AS.	1	148.05		148.05
3862218	HOSE AS	1	133.03		133.03
4613136	HOSE AS.	1	161.83		161.83
3862228	HOSE AS	1	52.25		52.25
4413360	HOSE AS	1	52.03		52.03
4532626	HOSE AS	1	48.00		48.00
1171266	SEAL-O-RING	1	5.13		5.13
1391398	CLIP	1	10.68		10.68 69.44
1440367	CLAMP	4	17.36		2.43
2S4078	SEAL	1	2.43 1.92		5.76
3D2824	SEAL OR	3	1.58		6.32
5K9090	SEAL O R	4 2	1.24		2.48
3J1907	SEAL	3	1.24		3.78
6V8397	SEAL SEAL O RING	2	1.43		2.86
6V9746	SEAL O RING SEAL-O-RING	1	1.75		1.75
6V8400 3K0360	SEAL-O-KING SEAL	2	1.40		2.80
6V3965	NIPPLE A	1	25.69		25.69
2147568	SEAL-O RING	1	4.87		4.87
3J7354	SEAL-O-RING-STOR	2	1.12		2.24
8C3446	VALVE	1	25.58		25.58
1P3704	SEAL	1	3.04		3.04
1P3705	SEAL	1	3.44		3.44
1V7801	SPACER	2	20.95		41.90
2213525	GROMMET	1	14.31		14.31
2431277	WASHER-HARD	8	2.05		16.40
3608161	CLAMP-ACCUM	1	62.23		62.23
6J2680	SEAL O R	1	4.25		4.25
6V0852	CAP	2	5.09		10.18
8C3447	CAP	1	5.09		5.09
8T4121	WASHER	27	0.60		16.20
8T4983	CLAMP	4	17.40		69.60
8T6703	CLAMP	2	16.93		33.86
2956259	FILTER GP	1	391.31		391.31
5P7701	SEAL	1	8.79		8.79
2069292	SEAL-O-RING	1	4.84		4.84
4400257	SWITCH AS-PR	1	179.57		179.57
0951678	O-RING	1	5.81		5.81
3477407	TUBE CENTER	1	40.44		40.44
8L2786	SEAL	1	5.71		5.71

9D7924 571-5253 Parts Summa	MOUNT ELEMENT AS-X ry	4 1	33.41 85.29		133.64 85.29
Labor					
Item Number	Description	Qty	Unit Price	Discount%	Ext Price
SHP-1*-**-**	SHOP LABOR	12	151.25	0	1,815.00
Labor Summa	ry				
Misc Summar	у				
Parts:	1,982.84 Labor : 1,815	5.00 Misc: 0.0	00 Segment 03	Total:	3,797.84
SEGMENT: 04	REPLACE (SJR)TR NOTES:	RANSMISS OIL PUMP (510 3066)		
Parts					
Part Number	Description	Qty	Unit Price	Discount%	Ext Price
6V6353	SEAL O RING	1	24.43		24.43
3613988	PUMP GP-GR 2	1	2,338.52		2,338.52
175-7904	SEAL-O-RING	1	7.27		7.27
HARDWARE ASSORTMEN	MISC FASTENERS F	1	50.00		50.00
Labor					
Item Number	Description	Qty	Unit Price	Discount%	Ext Price
SHP-1*-**-**	SHOP LABOR	2	151.25	0	302.50
Labor Summa	ry				
Parts: 2	2,420.22 Labor : 302	2.50 Misc: 0.0	00 Segment 04	Total:	2,722.72
SEGMENT: 05	REPLACE (SJR)TO	C/TRANS OIL COOLER	(510 1375)		
Parts					
Part Number	Description	Qty	Unit Price	Discount%	Ext Price
541-7167	HOSE	48	1.11		53.28
1P3705	SEAL	6	3.44		20.64
2213525	GROMMET	1	14.31		14.31
4J0524	SEAL-O-R	1	3.19		3.19
8T4121	WASHER	1	0.60		0.60
8T6703	CLAMP	12	16.93		203.16

2566453	SENSOR GP-TE	1	52.30		52.30
2385080	SEAL-O-RING	1	5.71		5.71
280795	GASKET	4	6.04		24.16
1090077	SEAL O RING	1	13.41		13.41
6F7062	WASHER	2	1.52		3.04
6V5064	SEAL O RING	1	2.06		2.06
5M2894	WASHER	3	0.42		1.26
10R-3644	CORE AS OIL	2	2,037.80		4,075.60
10R-3644	CORE	2	832.35		0.00
Parts Summa		_	002.00		0.00
Parts Sullilla	ıy				
Labor					
Item Number	Description	Qty	Unit Price	Discount%	Ext Price
SHP-1*-**-	SHOP LABOR	5	151.25	0	756.25
SHP-1"-"-	SHOP LABOR	3	101.20	J	700.20
Labor Summa	nry				
Misc Summar	у				
Parts:	4,472.72 Labor:	756.25 Misc:	0.00 Segment 0 5	Total:	5,228.97
SEGMENT: 06		RE FAILURE (SJR) DRIV	E SHAFT (019 3253	3)	
	NOTES:				
Parts					
Part Number	Description	Qty	Unit Price	Discount%	Ext Price
2346681	BOLT-12 POIN	16	11.52		184.32
1730888	SPIDER GP	2	168.57		337.14
1730888	SPIDER GP	2	168.57		337.14
Parts Summa					
i arts cummu	• •				
Labor					
Item Number	Description	Qty	Unit Price	Discount%	Ext Price
		ac,			
	-	6	151 25	0	907.50
SHP-1*-**-	-	6	151.25	0	907.50
	-	6	151.25	0	907.50
	SHOP LABOR	6	151.25	0	907.50
SHP-1*-**-**	SHOP LABOR	6	151.25	0	907.50
SHP-1*-**-**	SHOP LABOR	6	151.25	0	907.50
SHP-1*-**-** Labor Summa	SHOP LABOR	6	151.25	0	907.50
SHP-1*-**-** Labor Summa	SHOP LABOR	6			
SHP-1*-**-** Labor Summa	SHOP LABOR	6 907.50 Misc:		0 S Total:	
SHP-1*-**-** Labor Summa Misc Summar	SHOP LABOR				
SHP-1*-**-** Labor Summa Misc Summar	SHOP LABOR				
SHP-1*-**-** Labor Summa Misc Summar	SHOP LABOR				

SEGMENT: 07

RECON BEFORE FAILURE (SJR)TORQUE CONVERTER (019 3101) NOTES:

Parts					
Part Number	Description	Qty	Unit Price	Discount%	Ext Price
6Y7652	CUP	1	38.01		38.01
6P7767	SHIM PAC	1	159.04		159.04
2343544	SEAL-O-RING	1	13.77		13.77
1H4203	CONE	1	57.90		57.90
1H9696	RING	1	3.01		3.01
1N5981	PIN	2	4.59		9.18
2M0340	SEAL O R	1	7.43		7.43
2S0679	BEARING	1	251.80		251.80
8J4351	SEAL-O-R	1	13.09		13.09
8M0903	RING	1	22.78		22.78
8S0768	SEAL-O-R	1	3.09		3.09
8T4121	WASHER	9	0.60		5.40
8T4896	WASHER	9	0.43		3.87
9H0846	SEAL O R	1	16.00		16.00
1T0679	ROLLER	13	6.96		90.48
3Q7723	SPLIT PIN	2	1.51		3.02
7G8427	RING	2	87.64		175.28
7S7018	SEAL O RING	1	6.16		6.16
2147568	SEAL-O RING	1	4.87		4.87
2744254	RING-SEAL	1	31.69		31.69
3369314	DISC-FRICTIO	1	126.74		126.74
3720699	CAM-FREEWHEE	1	636.28		636.28
1T0577	BEARING	1	35.89		35.89
9G6744	BEARING	1	14.17		14.17
3841651	PLATE-SIDE	2	69.46		138.92
3858507	SPRING-FREEW	13	6.29		81.77
0957950	RING,SNAP	1	3.77		3.77
1541581	RING-RETAINI	1	7.33		7.33
1666323	RACE-THRUST	1	23.23		23.23
1756694	RING-RETAINI	3	32.42		97.26
1S6515	RING	1	37.74		37.74
2S1362	RING	1	40.23		40.23
5P7213	WASHER	8	0.39		3.12
6H6043	RING	1	18.71		18.71
6V5839	WASHER	24	0.50		12.00
8T2611	RING	1	2.11		2.11
9X2858	RING	1	3.35		3.35
1T1639	RING	1	76.16		76.16
2A4576	CUP	1	41.16		41.16
4B7255	CONE	1	49.43		49.43
1T0655	BEARING	2	152.17		304.34
1T0686	RACE	2	49.38		98.76
1T0762	RACE	1	47.15		47.15
1T1078	BEARING	2	44.24		88.48
5M2894	WASHER	12	0.42		5.04
5P3867	RACE	1	81.76		81.76
9\$5279	RACE & R	1	129.69		129.69
175-7905	SEAL-O-RING	1	6.39		6.39

1489024 - 1

330-8196	SEAL-O-RING	1	4.95		4.95
143-0811	BOLT	9	1.13		10.17
0R-8079	VALVE GP-RLF	1	574.65		574.65
0R-8079	CORE	1	246.26		0.00
370-7902	COUPLING AS	1	1,022.38		1,022.38
Parts Summa	ry				
Labor					
Item Number	Description	Qty	Unit Price	Discount%	Ext Price
SHP-1*-**-TM	SHOP LABOR	30	151.25	0	4,537.50
	5.75. <u>1</u> .55.				
Labor Summa	ry				
Misc					
Item Number	Description	Qty	Unit Price	Discount%	Ext Price
MISC		1	250.00	0	250.00
Misc Summar	у				
Parts: 4	4,739.00 Labor: 4,537.50	Misc: 250	0.00 Segment 07	7 Total:	9,526.50

SEGMENT: 08 RECON BEFORE FAILURE (SJR)TRANS & TRANSF GEARS (019 3002) NOTES:

Parts					
Part Number	Description	Qty	Unit Price	Discount%	Ext Price
5P2587	SEAL O R	1	18.90		18.90
4F4097	RING	1	4.28		4.28
6D7889	SEAL	7	13.44		94.08
6V0852	CAP	6	5.09		30.54
1481928	VALRELIEF	1	98.85		98.85
3843375	HARNESS AS	1	567.10		567.10
1305300	CLIP	2	16.00		32.00
1325789	CLIP	8	7.15		57.20
3J1907	SEAL	1	1.24		1.24
6V8397	SEAL	2	1.26		2.52
3D2824	SEAL O R	2	1.92		3.84
5K9090	SEAL O R	1	1.58		1.58
2147568	SEAL-O RING	4	4.87		19.48
2287089	SEAL-O-RING	4	4.82		19.28
2042281	TIE-WRAP	1	2.00		2.00
2048000	MOUNT-TIE WR	1	7.22		7.22
2697852	SEAL-O-RING	5	5.46		27.30
2385080	SEAL-O-RING	1	5.71		5.71
2287093	SEAL-O-RING	3	6.51		19.53
2385084	SEAL-O-RING	3	9.22		27.66
2385082	SEAL-O-RING	1	7.94		7.94

### AP7581 CLIP	4P7233	GROMMET	1	11.35	11.35
4P8134 CLIP 4 5.10 20.40 6V5839 WASHER 10 0.50 5.00 7K1181 TIE 17 0.45 7.65 8L2777 O RING 5 4.98 24.90 9M1974 WASHER 18 0.36 6.48 9X4609 SEAL 1 3.16 3.16 9X390721 GASKET 6 9.27 55.62 3233968 CLIP-LADDER 1 22.85 22.85 2234434 VALVE GP-REL 1 692.55 692.55 2566453 SENSOR GP-TE 1 52.30 52.30 2385080 SEAL-O-RING 1 5.71 5.71 752962 WASHER 1 10.91 10.91 4J1688 ORIFICE 1 9.15 9.15 7B3039 SPRING 1 8.34 8.34 4678328 SHM 1 145.50 148.50 813783 VALVE <td></td> <td></td> <td></td> <td></td> <td></td>					
6V5839 WASHER 10 0.50 5.00 7K1181 TIE 17 0.45 7.65 R2777 O RING 5 4.98 24.90 9M1974 WASHER 18 0.36 6.48 9X4609 SEAL 1 3.16 3.16 330721 GASKET 6 9.27 5562 3523968 CLIP-LADDER 1 22.85 22.85 2234434 VALVE GP-REL 1 682.55 692.55 2566453 SENSOR GP-TE 1 6.52.30 52.30 2385080 SEAL-O-RING 1 5.71 5.71 7S2962 WASHER 1 10.91 30.49 3D0490 STUD 4 7.88 315.54 3J0490 SPRING 1 8.34 8.34 4J1698 ORIFICE 1 9.15 9.15 8T3298 SEAL 1 1 3.92 3.92 8J8783 VALVE 1 1 3.92 3.92 8J8783 VALVE 1 1 2.91 2.91 33346034 BEARING AS-R 2 465.29 930.58 3743508 GASKET 1 7.89 7.89 3743508 GASKET 1 7.89 3755792 SEAL 1 5.47 3743508 GASKET 1 7.89 3756792 SEAL 1 6.06 37666 6.06 376					
7K1181 TIE 17 0.45 7.65 8L2777 O RING 5 4.98 24.99 9M1974 WASHER 18 0.36 6.48 9X4609 SEAL 1 3.16 3.16 3930721 GASKET 6 9.27 55.62 3523968 CLIP-LADDER 1 22.85 22.85 258643 SENSOR GP-TE 1 692.55 692.55 2586463 SENSOR GP-TE 1 52.30 52.30 2385080 SEAL-O-RING 1 5.71 5.71 752962 WASHER 1 10.91 10.91 3D490 STUD 4 7.88 31.52 4J1698 ORIFICE 1 9.15 9.15 783039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 813783 VALVE					
8L2777 O RING 5 4.98 24.90 9M1974 WASHER 18 0.36 6.48 9X4609 SEAL 1 3.16 3.16 9390721 GASKET 6 9.27 55.62 3523968 CLIP-LADDER 1 22.85 22.85 2234434 VALVE GP-REL 1 692.55 692.55 2566453 SENSOR GP-TE 1 52.30 52.30 2385080 SEAL-O-RING 1 5.71 5.71 752962 WASHER 1 10.91 10.91 4J1698 ORIFICE 1 9.15 9.15 783039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 813783 VALVE 1 2.91 2.91 8J8783 VALVE 1 2.91 2.91 8J8783 VALVE 1 2.91 2.91 8J87084 BEARING AS					
9M1974 WASHER 18 0.36 6.48 9X4609 SEAL 1 1 3.16 3.16 930721 GASKET 6 9.27 55.62 3523968 CLIP-LADDER 1 22.85 22.85 2234434 VALVE GP-REL 1 692.55 692.55 2568453 SENSOR GP-TE 1 52.30 52.30 2385080 SEAL-O-RING 1 5.71 5.71 7S2962 WASHER 1 10.91 10.91 10.91 3D0490 STUD 4 7.88 31.52 7B3039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 8J8783 VALVE 1 2.91 2.91 2.91 1334292 SEAL 1 2.91 2.91 2.91 1334292 SEAL 2 65.92 125.84 336034 BEARING AS-R 2 465.29 303.58 2669266 RETAINER 2 5.51.9 106.38 3181179 SENSOR GP-SP 2 176.80 333.60 3743508 GASKET 1 7.89 7.89 3743508 GASKET 1 7.89 7.89 3743508 GASKET 1 5.47 5.47 1364189 BOLT 8 2.57 20.56 1B3867 BEARING 1 5.47 15.47					
9X4609 SEAL 1 3.16 3.16 3.16 3930721 GASKET 6 9.27 55.62 52.85 3223688 CLIP-LADDER 1 22.85 22.85 2224434 VALVE GF-REL 1 692.55 692.55 52366453 SENSOR GP-TE 1 52.30 52.30 52.30 3235080 SEAL-O-RING 1 5.71 5.71 5.71 5.71 5.72962 WASHER 1 10.91 10.91 3D0490 STUD 4 7.88 31.52 4J1698 ORIFICE 1 9.15 9.15 9.15 9.15 9.15 9.15 9.15 9.					6.48
3930721 GASKET 6 9.27 55.62 3523968 CLIP-LADDER 1 22.85 22.85 2234434 VALVE GP-REL 1 692.55 692.55 2566453 SENSOR GP-TE 1 52.30 52.30 2385080 SEAL-O-RING 1 5.71 5.71 752962 WASHER 1 10.91 10.91 3D0490 STUD 4 7.88 31.52 4J1698 ORIFICE 1 9.15 9.15 7B3039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 8J80783 VALVE 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 183867 BEARING 1 29.29 29.29 129.28 13665 SEAL 1 29.29 29.29 129.28 13665 SEAL 1 5.47 5.47 12665 SEAL 1 6.06 6.06 1276792 SEAL 1 7.77 1271086 SEAL 0 7.77 1271086 SEAL 0 7.77 1271086 SEAL 0 7.77 127118 SEAL 0 7.77 1271087 SEAL 1 7.90 18.907 SEAL 1 7.					3.16
3523968 CLIP-LADDER 1 22.85 22.85 2234434 VALVE GP-REL 1 692.55 692.55 2566453 SENSOR GP-TE 1 52.30 52.30 2385080 SEAL-O-RING 1 5.71 5.71 7S2962 WASHER 1 10.91 10.91 3D0490 STUD 4 7.88 31.52 4J1698 ORIFICE 1 9.15 7.91 783039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 8J8783 VALVE 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508<					55.62
2234434 VALVE GP-REL 1 692.55 692.55 2566463 SENSOR GP-TE 1 52.30 52.30 2385080 SEAL-O-RING 1 5.71 5.71 752962 WASHER 1 10.91 10.91 3D0490 STUD 4 7.88 31.52 4J1698 ORIFICE 1 9.15 9.15 783039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 8J8783 VALVE 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 183867 B					22.85
2566453 SENSOR GP-TE 1 52.30 52.30 2385080 SEAL-O-RING 1 5.71 5.71 7S2962 WASHER 1 10.91 10.91 3D0490 STUD 4 7.88 31.52 4J1698 ORIFICE 1 9.15 9.15 7B3039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 8J8783 VALVE 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 183867 BEA			1		692.55
2385080 SEAL-O-RING 1 5.71 5.71 7S2962 WASHER 1 10.91 10.91 3D0490 STUD 4 7.88 31.52 4J1698 ORIFICE 1 9.15 9.15 7B3039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 1334292 SEAL 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 183867 B			1		52.30
TS2962 WASHER 1 10.91 10.91 3D0490 STUD 4 7.88 31.52 4J1698 ORIFICE 1 9.15 9.15 7B3039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 8J8783 VALVE 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 B3867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING			1	5.71	5.71
3D0490 STUD 4 7.88 31.52 4J1698 ORIFICE 1 9.15 9.15 7B3039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 8J8783 VALVE 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 183867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL			1	10.91	10.91
4J1698 ORIFICE 1 9.15 9.15 7B3039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 8J8783 VALVE 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 1B3867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING			4	7.88	31.52
7B3039 SPRING 1 8.34 8.34 6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 8J8783 VALVE 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 183867 BEARING 1 29.29 29.29 1242665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL			1	9.15	9.15
6Y6328 SHIM 1 148.50 148.50 8T3298 SEAL 1 3.92 3.92 8J8783 VALVE 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 183867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER			1	8.34	8.34
8T3298 SEAL 1 3.92 3.92 8J8783 VALVE 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 183867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R			1	148.50	148.50
8J8783 VALVE 1 2.91 2.91 1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 1B3867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R			1	3.92	3.92
1334292 SEAL 2 62.92 125.84 3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 183867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL			1	2.91	2.91
3346034 BEARING AS-R 2 465.29 930.58 2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 1B3867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P7818 SEAL O R 1 18.90 18.90 5P7818 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA			2	62.92	125.84
2669266 RETAINER 2 53.19 106.38 3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 1B3867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING <td< td=""><td></td><td></td><td>2</td><td>465.29</td><td>930.58</td></td<>			2	465.29	930.58
3181179 SENSOR GP-SP 2 176.80 353.60 3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 1B3867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA <t< td=""><td></td><td></td><td></td><td>53.19</td><td>106.38</td></t<>				53.19	106.38
3743508 GASKET 1 7.89 7.89 1364189 BOLT 8 2.57 20.56 1B3867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 <			2	176.80	353.60
1364189 BOLT 8 2.57 20.56 1B3867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 <td< td=""><td></td><td></td><td>1</td><td>7.89</td><td>7.89</td></td<>			1	7.89	7.89
1B3867 BEARING 1 29.29 29.29 2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2		BOLT	8	2.57	20.56
2H2665 SEAL 1 5.47 5.47 2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1			1	29.29	29.29
2K4472 O RING 2 6.48 12.96 3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42		SEAL	1	5.47	5.47
3F5792 SEAL 1 6.06 6.06 5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42			2	6.48	12.96
5F3092 RING 1 5.77 5.77 5J1086 SEAL O R 1 9.22 9.22 5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42			1	6.06	6.06
5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42		RING	1	5.77	5.77
5M2057 SEAL 1 2.05 2.05 5P0537 WASHER 4 0.34 1.36 5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42	5J1086	SEAL O R	1	9.22	9.22
5P2587 SEAL O R 1 18.90 18.90 5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42		SEAL	1	2.05	2.05
5P7818 SEAL 1 27.04 27.04 6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42	5P0537	WASHER	4	0.34	1.36
6V5839 WASHER 14 0.50 7.00 7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42	5P2587	SEAL O R	1	18.90	18.90
7L2181 SEAL O RING 1 9.16 9.16 1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42	5P7818	SEAL	1	27.04	27.04
1999923 BOLT-HEX HEA 3 3.01 9.03 8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42	6V5839	WASHER	14	0.50	7.00
8H3981 RING 1 2.06 2.06 8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42	7L2181	SEAL O RING	1	9.16	9.16
8H8257 SEAL-O-R 1 13.33 13.33 8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42	1999923	BOLT-HEX HEA	3	3.01	9.03
8T0722 BOLT 2 1.13 2.26 8T4224 WASHER 1 0.42 0.42	8H3981	RING	1	2.06	2.06
8T4224 WASHER 1 0.42 0.42	8H8257	SEAL-O-R	1	13.33	13.33
014224 VV (01121)	8T0722	BOLT	2	1.13	2.26
0M0701 CDACED 1 40.55 40.55	8T4224	WASHER	1	0.42	0.42
3000/01 SPACER 1 48.55 48.55	9W0781	SPACER	1	49.55	49.55
6V0973 SEAL 1 26.70 26.70	6V0973	SEAL	1	26.70	26.70
2M9780 SEAL O RING 1 1.53 1.53	2M9780	SEAL O RING	1	1.53	
6V3250 SEAL O RING 1 1.22 1.22	6V3250	SEAL O RING	1	1.22	
3J1907 SEAL 3 1.24 3.72	3J1907	SEAL	3	1.24	
6V3265 CLIP 1 4.89 4.89	6V3265	CLIP	1	4.89	
2284947 SEAL-O-RING 1 5.77 5.77	2284947	SEAL-O-RING	1	5.77	5.77

1376645	1918304	SENSOR G-SPD	1	181.17	181.17
3384 SEALANT			1		
AJ1698			1		
3P3321 SEAL 2 77.71 155.42 6B8683 DOWEL 1 1 1.18 1.18 1.18 1.18 1.18 1.18 1.18			•		
6B6863 DOWEL 1 1.18 1.18 5M6187 RING 1 15.78 15.78 6F0156 RING 1 14.60 14.60 6P3458 SPACER 1 63.75 63.75 6P5724 LOCK 4 3.74 14.96 6P8864 GASKET 1 43.97 43.97 2825042 DISC-THRUST 12 24.88 285.66 6E8316 DISC 6 11.24 67.44 8P4617 SEAL 1 55.64 55.64 9F3788 RING 1 12.47 12.47 9M4355 DAMPER 19 4.51 85.69 1082736 RING LOCK 1 47.57 47.57 1082736 RING LOCK 2 50.85 101.70 2339748 DISC-FRICTIO 6 118.57 711.42 8M4390 SEAL O R 4 7.13 28.52 8M5661 SEAL O R			· · · · · · · · · · · · · · · · · · ·		
5M6187 RING 1 15.78 15.78 6F0156 RING 1 14.60 14.60 6F0156 RING 1 14.60 14.60 6F95724 LOCK 4 3.74 14.96 6Y8864 GASKET 1 43.97 43.97 6Y8864 GASKET 1 43.97 43.97 2825042 DISC-THRUST 12 24.88 298.56 8E8316 DISC 6 11.24 67.44 8F4617 SEAL 1 55.64 55.64 9F3788 RING 1 12.47 12.47 9M1603 RING 1 22.19 22.19 9M17535 RING LOCK 1 47.57 47.57 1082735 RING LOCK 1 47.57 47.57 1082735 RING LOCK 2 50.85 101.70 2339748 DISC-PRICTIO 6 118.57 711.42 8M5661 SEAL					
6F0156 RING 1 14.60 14.60 6P3458 SPACER 1 63.75 63.75 6P5724 LOCK 4 3.74 14.96 6Y8864 GASKET 1 43.97 43.97 2825042 DISC-THRUST 12 24.88 298.56 E8316 DISC 6 11.24 67.44 8P4617 SEAL 1 55.64 55.64 9F3788 RING 1 12.47 12.47 9M1603 RING 1 12.47 12.47 9M4355 DAMPER 19 4.51 85.69 1082736 RING LOCK 1 47.57 47.57 1082736 RING-LOCK 2 50.85 101.70 2339748 DISC-FRICTIO 6 118.57 711.42 8M4390 SEAL O R 4 7.13 28.52 8M5661 SEAL O R 2 6.14 12.29 951343 PLUG<					
6P3488 SPACER 1 63.75 63.75 6P5724 LOCK 4 3.74 14.96 6P5724 LOCK 4 3.74 14.96 6P5864 GASKET 1 43.97 43.97 2625042 DISC-THRUST 12 24.88 298.56 8E8316 DISC 6 11.24 67.44 8P6417 SEAL 1 55.64 55.64 9F3788 RING 1 12.47 12.47 9M1503 RING 1 12.47 12.47 9M1503 RING 1 12.47 9M1503 RING 1 12.47 9M1503 RING 1 47.57 47.57 1082736 RINGLOCK 1 47.57 47.57 1082736 RINGLOCK 2 50.85 101.70 1082736 RINGLOCK 2 50.85 101.70 1339748 DISC-FRICTIO 6 118.57 711.42 8M4390 SEAL OR 4 7.13 28.52 8M5661 SEAL OR 2 61.4 12.28 9S1343 PLUG 1 52.4 52.4 3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 1 21.91 21.91 19.011 19.011 RING 1 43.71 43.71 19.01 19.011 RING 1 43.71 43.71 19.01 19.011 RING 1 43.71 43.71 19.01 19.011 RING 1 43.71 43.71 43.71 19.01 19.01 19.014 RING 1 43.71 43.71 43.71 19.01 19.014 RING 1 43.71 43.71 43.71 19.01 19.014 RING 1 43.76 45.6 4.56 4.56 4.56 19.926 RING-CLA 1 12.79					
6°5724 LOCK					
6Y8864 GASKET 1 43.97 43.97 2825042 DISC-THRUST 12 24.88 298.56 8E8316 DISC 6 11.24 67.44 8P4617 SEAL 1 55.64 55.64 9F3788 RING 1 12.47 12.47 9M1503 RING 1 22.19 22.19 9M4355 DAMPER 19 4.51 85.69 1082735 RING LOCK 1 47.57 47.57 1082736 RING-LOCK 2 50.85 101.70 2339748 DISC-FRICTIO 6 118.57 711.42 8M4390 SEAL O R 2 6.14 12.28 8M5661 SEAL O R 2 6.14 12.28 981343 PLUG 1 5.24 5.24 3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 184510					
2825042 DISC-THRUST 12 24.88 298.56 8E8316 DISC 6 11.24 67.44 8P4617 SEAL 1 55.64 55.64 9F3788 RING 1 12.47 12.47 9M1503 RING 1 22.19 22.19 9M4355 DAMPER 19 4.51 85.69 9M3555 RING LOCK 1 47.57 47.57 1082735 RING LOCK 1 47.57 47.57 1082736 RING-LOCK 2 50.85 101.70 233748 DISC-FRICTIO 6 118.57 771.42 28M4390 SEAL O R 4 7.13 28.52 8M4390 SEAL O R 2 6.14 12.28 951343 PLUG 1 5.24 5.24 9736708 SPRING-DISC 3 53.78 191.43 3870101 SPRING 12 19.44 233.28 1124511					43.97
8E8316 DISC 6 11.24 67.44 8P4617 SEAL 1 55.64 55.64 9F3788 RING 1 12.47 12.47 9M4503 RING 1 22.19 22.19 9M4355 DAMPER 19 4.51 85.69 1082735 RING LOCK 1 47.57 47.57 1082736 RING-LOCK 2 50.85 101.70 2339748 DISC-FRICTIO 6 118.57 711.42 8M4590 SEAL OR 4 7.13 28.52 9S1343 PLUG 1 5.24 5.24 9S1343 PLUG 1 5.24 5.24 9871NG-DISC 3 53.78 161.34 1228 SPRING-DISC 3 53.78 161.34 124511 SPRING 12 19.44 233.28 1124511 SPRING 1 21.91 21.91 185989 PIN 6					
8PA617 SEAL 1 55.64 55.64 9F3788 RING 1 12.47 12.47 9M1503 RING 1 12.47 12.47 9M4355 DAMPER 19 4.51 85.69 1082735 RING LOCK 1 47.57 47.57 1082736 RING-LOCK 2 50.85 101.70 2339748 DISC-FRICTIO 6 118.57 711.42 8M4390 SEAL OR 4 7.13 28.52 8M5661 SEAL OR 2 6.14 12.28 9S1343 PLUG 1 5.24 5.24 9S1343 PLUG 1 5.24 5.24 9S1343 PLUG 1 5.24 5.24 9S1341 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 1 21.91 21.91 1P0014 RING					
9F3788 RING 1 12.47 12.47 9M1503 RING 1 1 22.19 22.19 9M4355 DAMPER 19 4.51 85.69 1082735 RING LOCK 1 47.57 47.57 47.57 1082736 RING-LOCK 2 50.85 101.70 2339748 DISC-FRICTIO 6 118.57 711.42 8M4390 SEAL OR 4 7.13 28.52 8M5661 SEAL OR 2 6.14 12.28 9S1343 PLUG 1 5.24 5.24 5.24 3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 3 1.30 3.90 1N5410 RING 1 4.56 4.56 118.97 11.99 11.90 11.					
9M1503 RING 1 22.19 22.19 9M4355 DAMPER 19 4.51 85.69 1082735 RING LOCK 1 47.57 47.57 1082736 RING-LOCK 2 50.85 101.70 2339748 DISC-FRICTIO 6 118.57 711.42 8M4390 SEAL O R 4 7.13 28.52 8M5661 SEAL O R 2 6.14 12.28 9S1343 PLUG 1 5.24 5.24 3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 3 1.30 3.90 1N5410 RING 1 21.91 21.91 1P9261 RING 1 4.56 4.56 1P9261 RING 1 4.56 4.56 1P9261 RING 1 43.71 43.71 1S9898 PIN					
9M4355 DAMPER 19 4.51 85.69 1082735 RING LOCK 1 47.57 47.57 1062736 RING-LOCK 2 50.85 101.70 2339748 DISC-FRICTIO 6 118.57 711.42 8M4390 SEAL OR 4 7.13 28.52 8M5661 SEAL OR 2 6.14 12.28 9S1343 PLUG 1 5.24 5.24 9S1343 PLUG 1 5.24 5.24 3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 1 21.91 21.91 115410 RING 1 21.91 21.91 1159261 RING 1 43.71 43.71 189989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL OR 1 18.40 12.79 2D8363 SEAL OR 1 18.40 13.40 3756965 SPRING 1 18.40 13.40 3756965 SPRING 1 18.40 18.40 3756965 SPRING 24 10.81 25.94 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3.90 3S2708 PIN 10 5.66 26.264 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 5.290 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 1 6.98 6V0836 RING 1 6.43 8C6761 RING 1 6.43 8C992 RING 1 6.93 5S9104 RING-RET 2 16.93 3.36 8S9104 RING-RET 2 16.93 3.36 8S9104 RING-RET 2 16.93 3.36 8S9104 RING-RET 2 16.93 3.375 3.575 9M2095 RING 1 16.63					
1082735 RING LOCK 1 47.57 47.57 1082736 RING-LOCK 2 50.85 101.70 2339748 DISC-FRICTIO 6 118.57 711.42 8M4390 SEAL OR 4 7.13 225.28 8M5661 SEAL OR 2 6.14 12.28 9S1343 PLUG 1 5.24 5.24 3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 3 1.30 3.99 1N5410 RING 1 21.91 21.91 1P9261 RING 1 4.56 4.56 1P9261 RING 1 43.71 43.71 1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL OR 1 18.40 18.40 3782792 <					85.69
1082736 RING-LOCK 2 50.85 101.70 2339748 DISC-FRICTIO 6 118.57 711.42 8M4390 SEAL O R 4 7.13 28.52 8M5661 SEAL O R 2 6.14 12.28 9S1343 PLUG 1 5.24 5.24 3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 3 1.30 3.90 1N5410 RING 1 21.91 21.91 1P0014 RING 1 4.56 4.56 1P9261 RING 1 4.56 4.56 1P9261 RING 1 4.56 4.56 1P9261 RING 1 4.74 3.71 43.71 1S9989 PIN 6 17.46 304.72 3.04 3.24 10.81 2.59 2B3363 SEAL O R 1					
2339748 DISC-FRICTIO 6 118.57 711.42 8M4390 SEAL O R 4 7.13 28.52 8M5661 SEAL O R 2 6.14 12.28 9S1343 PLUG 1 5.24 5.24 3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 3 1.30 3.90 1N5410 RING 1 21.91 21.91 1P0014 RING 1 4.56 4.56 1P9261 RING 1 43.71 43.71 1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL O R 1 18.40 18.40 3755965 SPRING 24 10.81 259.44 3P2792 SEAL RIN 4 72.00 288.00 3P2794 <td< td=""><td></td><td></td><td></td><td></td><td>101.70</td></td<>					101.70
8M4390 SEAL O R 4 7.13 28.52 8M5661 SEAL O R 2 6.14 12.28 9S1343 PLUG 1 5.24 5.24 3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 3 1.30 3.90 1N5410 RING 1 21.91 21.91 1P9014 RING 1 4.56 4.56 1P9261 RING 1 43.71 43.71 1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL O R 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 65.66 262.64 3P3743 RING<					
8M5661 SEAL O R 2 6.14 12.28 9S1343 PLUG 1 5.24 5.24 3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 3 1.30 3.90 1N5410 RING 1 21.91 21.91 1P0014 RING 1 4.56 4.56 1P9261 RING 1 43.71 43.71 1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.279 2D8363 SEAL O R 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RI					28.52
9S1343 PLUG 1 5.24 5.24 3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 3 1.30 3.90 1N5410 RING 1 21.91 21.91 1P0014 RING 1 4.56 4.56 1P9261 RING 1 43.71 43.71 1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL O R 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 392792 SEAL RING 1 54.85 54.85 3P2793 SEAL RING 1 54.85 54.85 3P2794 SEAL RING 4 72.00 288.00 3P2795 SEAL RIN 4 65.66 262.64 3P3743					
3736708 SPRING-DISC 3 53.78 161.34 3870101 SPRING 12 19.44 233.28 1124511 SPRING 3 1.30 3.90 1N5410 RING 1 21.91 21.91 1P0014 RING 1 4.56 4.56 1P9261 RING 1 43.71 43.71 1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL O R 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.00 5M7925 BEAR					5.24
3870101 SPRING 12 19.44 233.28 1124511 SPRING 3 1.30 3.90 1N5410 RING 1 21.91 21.91 1P0014 RING 1 4.56 4.56 1P9261 RING 1 43.71 43.71 1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL O R 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING					
1124511 SPRING 3 1.30 3.90 1N5410 RING 1 21.91 21.91 1P0014 RING 1 4.56 4.56 1P9261 RING 1 43.71 43.71 1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL O R 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING					233.28
1N5410 RING 1 21.91 21.91 1P0014 RING 1 4.56 4.56 1P9261 RING 1 43.71 43.71 1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL OR 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING <					3.90
1P0014 RING 1 4.56 4.56 1P9261 RING 1 43.71 43.71 1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL O R 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL					21.91
1P9261 RING 1 43.71 43.71 1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL O R 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 8.11 8.11 8K2692 RING 1 8.11<			1	4.56	4.56
1S9989 PIN 6 17.46 104.76 3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL O R 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 8.11 8.11 8K2692 RING			1		43.71
3014628 BEARING-CLA 1 12.79 12.79 2D8363 SEAL O R 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 8.11 8.11 8K2692 RING 1 8.11 8.11 8K2692 RING <t< td=""><td></td><td></td><td></td><td></td><td>104.76</td></t<>					104.76
2D8363 SEAL O R 1 18.40 18.40 3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79					12.79
3756965 SPRING 24 10.81 259.44 3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2			1		18.40
3P2792 SEAL RING 1 54.85 54.85 3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1				10.81	259.44
3P2793 SEAL RIN 4 72.00 288.00 3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16				54.85	54.85
3P2794 SEAL RIN 4 65.66 262.64 3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 1 16.16 16.16 9M2095 RING 1 16.16 16.16				72.00	288.00
3P3743 RING 1 10.50 10.50 3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16				65.66	262.64
3P4050 SPACER 1 3.30 3.30 3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16			1	10.50	10.50
3S2708 PIN 10 5.29 52.90 5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16			1	3.30	3.30
5M7925 BEARING 6 35.04 210.24 6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16			10	5.29	52.90
6S1753 RING 1 6.98 6.98 6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16			6	35.04	210.24
6V0836 RING 3 19.46 58.38 6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16				6.98	6.98
6V0973 SEAL 1 26.70 26.70 7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16			3	19.46	58.38
7J6525 RING 1 16.43 16.43 8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16			1	26.70	26.70
8C6761 RING 1 8.11 8.11 8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16			1	16.43	16.43
8K2692 RING 1 9.35 9.35 8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16			1	8.11	8.11
8S9104 RING-RET 2 16.93 33.86 8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16			1	9.35	9.35
8T1141 RING 2 18.79 37.58 9M2095 RING 1 16.16 16.16			2		33.86
9M2095 RING 1 16.16 16.16					37.58
4 705 50				16.16	16.16
2445 14 VALVE GF-WIDE 0 204.20 1,7 00.00	2443114	VALVE GP-MDL	6	294.25	1,765.50

SEGMENT: 09	ADDITIONAL PARTS (SJ NOTES: ACTUAL ADDITIONAL PA			3003)	
Parts: 15	5,184.77 Labor: 10,587.50	Misc: 50	00.00 Segment 08	Total:	26,272.27
Misc Summary	y				
MISC		1	500.00	0	500.00
Misc Item Number	Description	Qty	Unit Price	Discount%	Ext Price
Labor Summa	ry				
SHP-1*-**-TM	SHOP LABOR	70	151.25	0	10,587.50
Labor Item Number	Description	Qty	Unit Price	Discount%	Ext Price
Parts Summar	у				
269-7885	SEAL-O-RING	1	26.23		26.23
238-5080	SEAL-O-RING	2	5.71		11.42
6Y3484	BEARING	3	134.20		402.60
5M6126	BEARING	3	19.65		58.95
5M2894	WASHER	20	0.42		8.40
5M2054	BEARING	8	15.55		124.40
2D5658	BEARING	1	28.38		28.38
1P3958	ROLLER A	3	50.85		152.55
1067798	BEARING	2	62.61		125.22
2346707	DISC-FRICTIO	5	76.44		382.20
9W9856 5P0403	BEARING	1	25.29		25.29
8E8304	DISC DISC A	8	331.30		2,650.40
6Y5793	RING SEAL	2 14	92.45 7.89		110.46
5M2894	WASHER	1	0.42 92.45		184.90
5M2894	WASHER	13	0.42 0.42		0.42
4F2041	CUP	2	75.79		5.46
2H6489	RACE	1	92.47		92.47 151.58
2D9457	CONE	2	209.52		419.04
1P7835	CONE	2	132.50		265.00
1P7834	CUP	2	62.77		125.54
4S8598	SCREEN	1	14.85		14.85
2H6490	ROLLER A	1	126.94		126.94
					100.01

ACTUAL ADDITIONAL PARTS AND LABOR QUOTED AFTER DISASSEMBLY & INSPECTION

Parts
Part Number Description Qty Unit Price

Parts Summary

Ext Price

Discount%

Labor Summary

Misc Summary

Parts:	0.00	Labor:	0.00	Misc:	0.00	Segment 0	9 Total:	0.00
SEGMENT: 10		'NAMOME' DTES:	TER TEST ((SJR)TRANSI	MISSION	(031 3030)		
Parts Part Number	Description	on		Qty		Unit Price	Discount%	Ext Price
Labor Item Number SHP-1*_***				Qty 8		Unit Price 151.25	Discount% 0	Ext Price 1,210.00
Labor Summa	ry							
Parts:	50.00	Labor:	1,210.00	Misc:	0.00	Segment 1	0 Total:	1,260.00
SEGMENT: 66	NC TR	OTES: RANSPORT	TO AND F			WHEELS ON IDENSER (RO	DOF)	
Parts Part Number	Description	on		Qty		Unit Price	Discount%	Ext Price
Labor Summa	ry							
Misc	•							
Item Number ROUND-TRIP TRANSPORT TO	-			Qty 1		Unit Price 12,000.00	Discount% 0	Ext Price 12,000.00
PERRYSBURG	j							
Parts:	0.00	Labor:	0.00	Misc: 12	,000.00	Segment 6	6 Total:	12,000.00
						Total Seg	ıments:	79,174.40
SUB TOTAL (I	BEFORE T	AXES)						79,174.40
PART DISCOL	JNT							0.00

PO#: Authorized Name:	(signature)					
Date:	(print)					
Thank you for this opportunity to serve your company						
CONTACT INFORMATION:						
Prepared by: Dan Rossi Phone: 419-704-6088 Email: drossi@ohiocat.com F	Fax:					
- This estimate will expire 10 days from the estimate date Price excludes Freight Charges, Operating Supplies/EPA Fees and Overtime Terms: Net 30.						

⁻ Sales Taxes where applicable are not included with the above prices.

Terms and Conditions

BY SIGNATURE ABOVE, I certify that I am the owner or owner's agent, and authorize Ohio Cat, its employees, subcontractors or consultants to perform the inspection, maintenance or repairs described above to include the provision and use of necessary materials required to accomplish the described work scope. I further authorize Ohio Cat to operate the equipment, or any part therein described for the purpose of testing and/or inspection. I understand that payment for all work performed is due in full upon completion.

Upon acceptance, this quote becomes a legal agreement between you (either an individual or the entity you are authorized to represent) and Ohio Cat. Further, signing certifies the information provided is true and correct, and that the signer is authorized to charge this purchase as noted. Ohio Cat reserves the right to reject a partial or modified quote. You may cancel an accepted quote until the work is started. Once started, work may be stopped at anytime. Partially completed work will be billed based on Time and Materials at Ohio Cat's prevailing rate. Additional handling and storage fees may apply to work partially completed or work temporarily put on hold.

EQUIPMENT HAVING INSTALLED FIRE SUPPRESSANT SYSTEMS: During course of repair work it may become necessary to deactivate or disturb mechanical and/or electrical components of the fire suppression system. Reactivation of the fire suppressant system is the responsibility of the customer and should be undertaken before machine operations. Ohio Cat accepts no responsibility for the reactivation, testing or operation of the fire suppressant system.

STANDARD WARRANTY: Parts for this repair are warranted as indicated by the manufacturer from the date of invoice. In addition, Ohio CAT's standard labor warranty of 90 days will apply. Full warranty statements, including limitations and exclusions, are available from any Ohio Cat facility. Ask your service representative about additional or enhanced warranty availability.

THESE WARRANTIES ARE EXPRESSLY IN LIEU OF ALL OTHER WARRANTIES, EXPRESS OR IMPLIED, INCLUDING ANY WARRANTY OF MERCHANTABILITY OR FITNESS OF PURPOSE. REMEDIES FOR THESE WARRANTIES ARE LIMITED TO THE PROVISION OF MATERIAL AND SERVICES AS SPECIFIED HEREIN. IN NO EVENT WILL EITHER CATRPILLAR OR OHIO CAT BE RESPONSIBLE FOR INCIDENTAL OR CONSEQUENTIAL DAMAGES.

CORE CHARGES: Core charges will be returned to customer upon acceptance of the core by Caterpillar.

OVERTIME: Overtime can be added at customers request charged at Ohio Cat's prevailing overtime rate.

PARTS POLICY: This quote does not include any un-salvageable parts. Parts will be set aside for customer approval before replacement.

TURNAROUND TIME: Ohio Cat will not be responsible for circumstances outside of its control. If delays are experienced, the customer will be contacted. In no event will Ohio Cat or subsidiaries be liable for any direct or indirect damages (including, without limitation, lost profits, lost savings or other incidental or consequential damages) arising out of the use or inability to use the machine, even if Ohio Cat or subsidiaries has been advised of the possibility of such loss.